






JustinW
Typewritten Text
Prepare 4 bolts assembly by inserting lock washer (#C), then flat washer (#D) onto bolts (#A). Align base (#4) to the holes of the legs (#6). Secure by using bolts (#A).

JustinW
Typewritten Text

JustinW
Typewritten Text

JustinW
Rectangle

JustinW
Typewritten Text
Prepare 4 bolts assembly by inserting lock washer (#C), then flat washer (#D) onto bolts (#A). Align mounting plate (#3) to the holes of the legs (#6). Secure by using bolts (#A).

JustinW
Rectangle



JustinW
Typewritten Text
Prepare 8 bolts assembly by inserting lock washer (#C), then flat washer (#D) onto bolts (#A). Align mounting plates (#3) to the holes of the table top (#1). Secure by using bolts (#A).

JustinW
Rectangle

JustinW
Typewritten Text
Prepare 2 bolts assembly by inserting lock washer (#C), then flat washer (#D) onto bolts (#B). Align cross bar (#5) to the holes of the base (#4), then secure by using bolts (#B).

JustinW
Typewritten Text

JustinW
Rectangle



JustinW
Typewritten Text
Unlock lever at the bottom of the table (#1), then extend table (#1) to place table leaf (#2) to the middle of the table top (#1).

JustinW
Rectangle

JustinW
Typewritten Text
Lock the table leaf to table top.

JustinW
Typewritten Text

JustinW
Rectangle




